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1.1 74 5 {08 X e HFE AR P

%let mv0Ol1=height var001;

data testﬁ FARG

Input sex &mvO01;
datalines;

run;

proc print data=test;
var &mvO01;

run;
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1.2 JH e XA

T
gli
gﬁ,
X
gl

%let dataset=sashelp.class;
%let time=20050727;

> hx,—h,\ _?.j
Yoput _user_;ﬁk RR=E

%put _automatic_;

title “Report produced at &sysdate9., &sysday”;

ﬁvz:{—% |
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- KRR

_?El

% macro test; { B
%let localvar=12345;

%oput _user_;
%mend:;
%otest

o AR

%let globalvar=2005; { Ny

%global sasvar,;
%oput _user_;




1.4 77225 s A

%let var=weight;
%let data=sashelp.class; REEIA
proc print data=&data;

var &var,;

title “Contents of dataset &data for variable &var”;
run;

FHEETFI
)ﬂf 223 /ﬁ
1% F 32 5| 5

%let 1=10; Ty

. A :
sdlety=s: ﬁ&é& ry T
%let t1=text in line&j|; 2 kk 555 % %,

%let t2=text in line&].page&i.underscored;
%Ilet lib=sashelp; ‘
%let data=&Iib..class;

ZEZIRAEE ST A
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1.5 AR s R 42 5 |

% macro test; o

dot 0 RE—RAFINRR
ata _htt_, =, levl, lev2, ...
set sashelp.class end=last;

call symput((“lev”||[compress( n )),age);

If last then call symput(“levn”,compress(_n_));,
run; FAig L 9’Zx'€‘j
%do i=1 %to &levn; P AUE S RS SRS

%put lev&i=&&lev&d;

%end;
%mend test; FEABH G E EZ L AR
B ARA26K-1R F A&
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&& &
&name - - macro-variable-value
character - character

&&lev&i

| —

&levl

| —
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%let a=weight/height/sex;
%let b=%scan(&a,2,/);
%let c=%substr(&a,8,6);

(rasTEE )

%let 1=9; ;m/\ﬁ)ﬂ‘?
%let j=%eval(&i*2+1); TR A
J A ES, H

HAT BT

%let k=%scan(&a,1,/)is%eval(&I1*7-3)kg;
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2.2 7 B e X

vA%macroi& 4] A JF 44 ’

%macro mtest(times);

M

” %do =1 %to &times;

‘ %put putting process is performed for &l times;
< %end,;

X %mend mtes

A% mendiE &) A& E |

% mtest(10)
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2.3 5B
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%macro paratest(posl,pos2,keyl=defaultl,key2=default2);
%put the first positional parameter is &posl;

%put the second positional parameter is &pos2;

%put the first keyword is &keyl;

%put the second keyword is &key?2;

%mend paratest;

FINE N MLESH, B TR BERAE™
%paratest(paral,para2)

[*PE SRR IRATE, RIS
%paratest(para2,paral,keyl=keywordl,key2=keyword?2)
[* B AT I, A SEIR H E
%paratest(paral,para2,key2=keyword2,keyl=keywordl)
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3.1 UAKIAL

kR,
HFRICK, ERR

%let a=weight/height/sex;

%let b=%scan(&a,1,/); & glﬁmigﬁ%ﬁi
%let c=variable &b. and %substr(&a,8,6): % -

title “variable &b. and %substr(&a,8,6) selected”;
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W RIATL (1)

%macro comparen(varl,var2);
%if &varl>&var2 %then %put &varl is greater than &varz;
%else %if &varl=&var2 %then %put &varl equals &varz;
%else %put &varl is less than &varz,;

%mend comparen;

vocomparen(1.2); g (fed) HFEMLE, RMIKT A

%comparen(10,6.0); | i BB T e AR, EAT R 6 AR




W RIATL (2)

% macro co ef(varl,var2);

%if %osysévalf(&varl>&var2) %then %put &varl is greater than
&varz,

%else %if %sysevalf(&varl=&var2) %then %put &varl equals
&varz;

%else %put &varl is less than &varz;
%mend comparef;

%comparef(-1.1,0.2);
}[%ﬁﬁﬁﬁﬁ&5ﬁ%& LR

%comparef(10,6.0);
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3.3 HARKIEI

%let a=%eval(1+2); O
%let b=%eval(10*3);

%let c=%eval(4/2), > {
%let i=%eval(5/3); y

Yoeval F H B R B HE F ik W }

%let a=%sysevalf(10.0*3.0);
%let b=%sysevalf(10.5+20.8); { Yosysevalf % F 3 PRI & 45 B i3 N }
%let i=%sysevalf(5/3);

EE: FRRAXEBARSITRFEYE, BREERBBHBRAFHE,
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4. FiEA]

. SASLZF. FH

%let a:%eval(1+2);{yx NEHEHBERE |

%do i=1 %to &n; )
%do %while(expression);

|

PATE 2 8 30 A
%eval F

%do %until(expression);
%If expression %then statement; -

Tips: S logd 9 F4REH Xk Yoeval FHK 4948745 & M BT AT KA+ K & 5F
RS evalty 5| A, N EAEERT AELEANGES KRBTSR,
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4.1 A AE FFBOARAE A5 FH i) 22 1)

R e s s

%*comment  JEREESA],

%COPY ¥ DUER), NSASEEH 5 DR E A 4.

%DISPLAY  BoRZHEA)E .

%GLOBAL @ — 4R,

%INPUT TE T PAT IR T A 72 A R A

%LET QI — A7 AR g, RIS IR T IRA .

%MACRO  #riR— AN XIWTFER, 808 PE LER SRR RS HEE
%PUT W48 B SO B AR B E S N log & 1 .

%SYMDEL  WER+EE K2 AL 5

%SYSCALL i HSASFFET

%SYSEXEC ARG L

%SYSLPUT %mhﬂﬂ@iﬂ&%gﬁiﬁx~/]\%ﬁE@?Z/EE%E‘M%E&~/I\Bﬁﬁ%ﬁfﬁ%iaﬁ
%SYSRPUT  RimfE FHL b — AR IR A ML 1) AR 5
%WINDOW il —ANH - H e & H .
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4.2 AL 7 SCHER:

2% )

FiEA] DRe& S
%ABORT WY RIEAT
%DO HiE—N%dofChg b,

%DO, Iterative

%D0O %UNTIL

%DO %WHILE
%END

%GOTO
%IF-%THEN/%ELSE
%label:

%LOCAL

%MEND

%RETURN

TFH—N%do i FR i) .

AT HE € IV A L 4R R AT H

I E KA SO AT Fa E 1T

PRI %dofUhig R (RLHh iR4F%doitit)) 45
RIS AT HEREBRER 24 € AR ZE AR IR B
FAFER, AR E A .
TR E ARS8 tH— MRS,
AR AR

PRI A28 SR
5132 I IR AL

L% %gotoiE fi i F .
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5. ZEREL (

1)

%let a=%scan(&Db,2); {

FHE RS, PITEH S £ AR |

%let b=%length(&a);

%let 1=%eval(12+13);
%let |=%sysevalf(3.5/2);

R EK, BEERAIAAGRE |

%scan, %6gscan, %osubstriA & %oqsubstrif & 3k
AZATHAEE 6 B3R Yeval H K.

%let r=x;y;
%let s=%str(x;y);
%let t=%nrstr(95%%Cl);

[ﬂmzaﬁ,ﬁﬁ%%ﬁﬁﬁﬁw%}
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5. AL (2)

%sysfunc e g bk =246, HE %m0 58 F HET—1,
Wik 2, AP n DR 22 A v Ee i FH SAS pR 28 A H]
P A E SR

%let tbid=%sysfunc(open(sashelp.class,i));
%let cnum=%sysfunc(attrn(&tbid,nvars));
%let rnum=%sysfunc(attrn(&tbid,nobs));
%let rc=%sysfunc(close(&tbid));

%let today=%sysfunc(inputn(20050727,yymmdd8.));
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SASEAL T DA N 4N Th e pdith 55 5
(1) DATA®;
(2) SQL;
(3) SCL;
(4) SAS/CONNECT.
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DATAZ %

data null_;
set sashelp.class end=last;
retain agesum O;

agesum-+age; | symput-F42 /7, ’l%SASi’é;#}%j

£ last then do: EREABLIENELE

call symput("'totage",agesum);
call symput("totnum”,compress(_n_));
end;
run;
%let agem=%sysevalf(&totage/&totnum);

data test, _ symgetFh K, I8 z’i? i3
set sashelp.class; BB 1 A SASHIE £ T &
average=symget("agem™);

agedif=age-average;
run;
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